10:31:08 1/14/2014	Public Improvement Assessment F	Roll by Address Project: Ratification Date: Resolution	19138C Assn	nt: 146000	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	<b>Charge Amts</b>	Property ID
Duane O Barnes Barnes 114 Acker St E	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 30 BLK 8	Excavate, Replace Connection Service Replacement City Processing Fee	1,500.00 30.00 1.00	1.00 71.00 290.40	\$1,500.00 \$2,130.00 \$290.40	30-29-22-43-0132
St Paul MN 55117-5509 *114 ACKER ST E *Ward: 5 *Pending as of: 3/12/2013		*** Owner ***			\$3,920.40	
James J Davis 360 Maple St St Paul MN 55106-5134 **114 ACKER ST E *Ward: 5 *Pending as of: 3/12/2013	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 30 BLK 8	*** Taxpayer ***				30-29-22-43-0132
Covenant Capital Llc 2300 Gervais Hills Dr Little Canada MN 55117-6039 *196 ACKER ST E *Ward: 5 *Pending as of: 3/12/2013	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL SUBJ TO ESMTS; LOTS 11 & LOT 12 BLK 8	Excavate, Replace Connection Service Replacement City Processing Fee  *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 30.00 192.00	\$1,500.00 \$900.00 \$192.00 \$2,592.00	30-29-22-43-0115
Rory Johnson 197 Acker St E Saint Paul MN 55117-5512 *197 ACKER ST E *Ward: 5 *Pending as of: 3/12/2013	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL LOT 19 BLK 7	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 26.00 182.40	\$1,500.00 \$780.00 \$182.40 \$2,462.40	30-29-22-43-0150
April A Mart 794 Agate St St Paul MN 55117-5515 *794 AGATE ST *Ward: 5	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL EX PART OF LOT 7 LYING NELY OF LINE BEG ON NWLY LINE OF SD LOT 27.40 FT NELY OF SW COR OF SD LOT TH SE 106.01 FT TO PT ON ELY LINE OF SD LOT	Excavate, Replace Connection Service Replacement City Processing Fee  *** Owner and Taxpayer ***	1,500.00 30.00 1.00	0.50 36.50 147.60	\$750.00 \$1,095.00 \$147.60 \$1,992.60	30-29-22-43-0145

10:31:08 1/14/2014	Public Improvement Assessment Roll by Address Project: 19138C Assmt: 146000 Manager: LM Ratification Date: Resolution #:					Page	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	Charge Amts	Property ID	
Shirley J Petway 796 Agate St Saint Paul MN 55117-5515 *796 AGATE ST *Ward: 5 *Pending as of: 3/12/2013	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL PART OF LOT 7 BLK 5 LYING NELY OF LINE BEG ON NWLY LINE OF SD LOT 27.40 FT NELY OF SW COR OF SD LOT TH SE 106.01 FT TO PT ON ELY LINE OF SD	Excavate, Replace Connection Service Replacement City Processing Fee  *** Owner and Taxpayer ***	1,500.00 30.00 1.00	0.50 36.50 147.60	\$750.00 \$1,095.00 \$147.60 \$1,992.60	30-29-22-43-0144	
Frending as 01. 3/12/2013						***ESCROW***	
Dale Robert Lashley Gail Marie Kern 797 Agate St St Paul MN 55117-5514 *797 AGATE ST *Ward: 5 *Pending as of: 3/12/2013	EDMUND RICE'S SECOND ADDITION TO THE CITY OF ST. PAUL E 1/2 OF LOT 20 AND ALL OF LOT 21 BLK 4	Excavate, Replace Connection Service Replacement City Processing Fee  *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 20.00 168.00	\$1,500.00 \$600.00 \$168.00 \$2,268.00	30-29-22-43-0049	
Than Win Kimberly Karen Win 11 Case Ave Saint Paul MN 55117-5048 5111 CASE AVE Ward: 5 Pending as of: 3/12/2013	ELBRA DIVISION LOT 17 BLK 2	Excavate, Replace Connection Service Replacement City Processing Fee  *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 30.00 192.00	\$1,500.00 \$900.00 \$192.00 \$2,592.00	30-29-22-13-0100	
Jerome P Blossom Karen M Blossom 115 Case Ave St Paul MN 55117-5048 *115 CASE AVE	ELBRA DIVISION LOT 18 BLK 2	Excavate, Replace Connection Service Replacement City Processing Fee  *** Owner and Taxpayer ***	1,500.00 30.00 1.00	1.00 30.00 192.00	\$1,500.00 \$900.00 \$192.00 \$2,592.00	30-29-22-13-0101	

\*Ward: 5

10:31:08 1/14/2014	Public Improvement Assessment F	Roll by Address Project: Ratification Date: Resolution	19138C Assn on #:	nt: 146000	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	Quantity	<b>Charge Amts</b>	<b>Property ID</b>
Karen Marie Wegner	WHITTIER DIVISION LOT 21 BLK 2	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	30-29-22-13-0028
Levi Carl Wegner		Service Replacement	30.00	22.00	\$660.00	
127 Cook Ave E		City Processing Fee	1.00	172.80	\$172.80	
St Paul MN 55117-5050				-	\$2,332.80	
*127 COOK AVE E		*** Owner and Taxpayer ***				
*Ward: 5						
*Pending as of: 3/12/2013						
Patricia M Soggiorno	WHITTIER DIVISION W 10 FT OF LOTS	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	30-29-22-13-0030
137 Cook Ave E	24 25 26 AND ALL OF LOT 23 BLK 2	Service Replacement	30.00	28.00	\$840.00	20 27 22 10 0000
St Paul MN 55117-5050		City Processing Fee	1.00	187.20	\$187.20	
*137 COOK AVE E				=	\$2,527.20	
*Ward: 5		*** Owner and Taxpayer ***			Ψ2,327.20	
*Pending as of: 3/12/2013		o mara anapaya				
1 chang as of . 3/12/2013						
Rick Price	ELBRA DIVISION LOT 10 BLK 2	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	30-29-22-13-0093
Kurtis Price		Service Replacement	30.00	14.00	\$420.00	
1078 Bonnieview Cir		City Processing Fee	1.00	153.60	\$153.60	
Woodbury MN 55129-8532				=	\$2,073.60	
*112 JENKS AVE		*** Owner and Taxpayer ***			4-,*****	
*Ward: 5		1 2				
*Pending as of: 3/12/2013						
1 chang as 01. 3/12/2015						
Karen Juneau	EDMUND RICE'S THIRD ADDITION TO	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	30-29-22-42-0031
116 Sims Ave	THE CITY OF ST. PAUL W 25 FT OF	Service Replacement	30.00	29.00	\$870.00	_
St Paul MN 55117-5546	LOT 7 BLK 3	City Processing Fee	1.00	189.60	\$189.60	
*116 SIMS AVE				=	\$2,559.60	
*Ward: 5		*** Owner and Taxpayer ***			* *******	
		1 2				

10:31:08 1/14/2014	Public Improvement Assessment R R	coll by Address Project: Ratification Date: Resolution	19138C Assn	nt: 146000	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	<b>Charge Amts</b>	Property ID
Irene C Spiegelberg		Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	30-29-22-42-0030
Keith A Spiegelberg	THE CITY OF ST. PAUL W 15 FT OF LOT 6 AND E 25 FT OF LOT 7 BLK 3	Service Replacement	30.00	27.00	\$810.00	
118 Sims Ave		City Processing Fee	1.00	184.80	\$184.80	
St Paul MN 55117-5546					\$2,494.80	
*118 SIMS AVE *Ward: 5 *Pending as of: 3/12/2013		*** Owner and Taxpayer ***				
Anthony L Curtis	EDMUND RICE'S THIRD ADDITION TO		1,500.00	1.00	\$1,500.00	30-29-22-42-0029
120 Sims Ave	THE CITY OF ST. PAUL E 35 FT OF LOT 6 BLK 3	Service Replacement	30.00	23.00	\$690.00	
St Paul MN 55117-5546	V SELL S	City Processing Fee	1.00	175.20	\$175.20	
*120 SIMS AVE					\$2,365.20	
*Ward: 5		*** Owner and Taxpayer ***				
*Pending as of: 3/12/2013						
August J Spiegelberg		· · · · · · · · · · · · · · · · · · ·	1,500.00	1.00	\$1,500.00	30-29-22-42-0027
130 Sims Ave	& ALL OF LOT 4 BLK 3	Service Replacement City Processing Fee	30.00 1.00	28.00 187.20	\$840.00 \$187.20	
Saint Paul MN 55117-5546		City Processing Fee	1.00	187.20		
*130 SIMS AVE		*** 0			\$2,527.20	
*Ward: 5 *Pending as of: 3/12/2013		*** Owner and Taxpayer ***				
Cdbk Development Llc	DRAKE'S 2ND ADDITION TO ST.	Excavate, Replace Connection	1,500.00	1.00	\$1,500.00	20 20 22 24 0024
623 Buchanen St Ne	PAUL, MINN. LOT 11 BLK 3	Service Replacement	30.00	30.50	\$915.00	30-29-22-34-0024
Minneapolis MN 55413-4685		City Processing Fee	1.00	193.20	\$193.20	
*20 SYCAMORE ST E		, .		:	\$2,608.20	
*Ward: 5		*** Owner and Taxpayer ***			\$2,000.20	
11 u1 u. J		1 3				

10:31:08 1/14/2014	Public Improvement Assessment Roll by Address Project: 19138C Assmt: 146000 Manager Resolution #:			Manager: LM	nager: LM Pag	
Owner or Taxpayer	<b>Property Description</b>	Item Description	<u>Unit Rate</u>	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Delane W Jones Phyllis M Jones 13424 80th St Milaca MN 56353-4409 *34 SYCAMORE ST E *Ward: 5 *Pending as of: 3/12/2013	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOTS 8,9 & 10 BLK 3	Excavate, Replace Connection Service Replacement City Processing Fee *** Owner ***	1,500.00 30.00 1.00	1.00 20.50 169.20	\$1,500.00 \$615.00 \$169.20 \$2,284.20	30-29-22-34-0083
Jeff Kings Business Llc 34 Sycamore St E # 2 Saint Paul MN 55117-5559 *34 SYCAMORE ST E *Ward: 5 *Pending as of: 3/12/2013	DRAKE'S 2ND ADDITION TO ST. PAUL, MINN. LOTS 8,9 & 10 BLK 3	*** Taxpayer ***				30-29-22-34-0083
Total Excavate, Replace Connection: Total Service Replacement: Total City Processing Fee:	\$24,000.00 \$15,060.00 \$3,124.80					
Project Total:	\$42,184.80	B 11 11 B	• • • • •		<b>*1 *</b> 0 (0 00	
Less Total Discounts:	\$0.00	Residential Frontage:	30.00	502.00	\$15,060.00	
Project Total:	\$42,184.80					

0 Exempt Parcel(s)